Note Title

F& (drawn “uphill”
when okject moves
down the slope )

( drawn * downhill
when ogbjedt
moves  up +he
slope )
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_“?..&_o_ component
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slope incllned af 30° above the
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Find +he accelerahon  of +the tunk
as H  moves down +he m-o_vp.




but we cowld calcwlate it
since  wWe know +the Sa_.ui..
o = @M.S@ . However, sinece both {erms
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g con  divide _Qw +he mass

ond concel +hem owt.

.&\9 = .mmm._sw * wo dm+ know the moss



mxocs_v: YA

A roller cooster car on +he first

drop is shown. The coeff. of frichon
(M)  between the car's wheels and +he
+rock is 0.0S . Find +he car's
o.cceleratron .
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DigsinG = pmplgeosO In  every term
mw %4 so tf MMS be

canceled owt
(9.8)sm4S — (0.05)(9.8)cos45
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6.9296 — 0.3465

6. 5831

or b.bM/s?

6.58 Mm/s




